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SSLC FIRST REVISION EXAMINATION 2019-20

Time Allowed : 3.00 Hours| MATHEMATICS

Note : Answer all the questions.
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[Max. Marks: 100
SECTION - | (Marks : 14)

14x1=14
A={a,b,p},B={2,3},C={p.q,r,s},then n[(AUC)XB]i5 -

(a) 8 (b) 20 (c) 12

(d 16
If Ais the set of even numbers less than 8 and B is the set of prime numbers less than 7 , then the number
of relations from A to B '
(@) 2 (b) & (c) 3 4
The sum of the exponents of the prime factors in the prime factorization of 1729 is
@@ 1 (b) 2 () 3 d 4
™ term of a GP 2,6,18, ... is
(@) 5832 (b) 2919  (c) 1458 , (d) 729
. If (x-6) is the HCF of x*- 2x - 24 and x? - kx - 6, then the value of k is
(@ 3 (b) S () 6 (d 8
Graph of alinear polynomial is a
(@) Straight line (b) Circle (c) Parabola (d) Hyperbola
If order of A,B ,Care 3X4, 5X4 and 5 X 8 then the order of (ABTC) IS
(@ 8X3 (b) 3X8 () 3X4 (d) 4X5
Ina AABC, AD is the bisectorof # BAC If AB = 8 cm, BD=6cm and DC=3cm Then length of the
side AC is
(@ 6 cm (b) 4cm () 3 cm (d 8 cm
If (§,7).(3.p)and(6,6) are collinear , then the value of p is
@ -3 (b) -6 ) 9 d 12
The equation of straight line passes through (-4,3) and having slope 2 is
a) x-2y+10=0 b) x-2y-10=0 ¢ x+2y+10=0 q) x+2y-10=0
tan0 cosec?® - tan 0 is equal to
(@) secO (b) cot?@ c) sin® (d) cot®
The height of a right circular cone whose radius is S cm and slant height 1s 13 cm will be
(@ 12cm (b) 10cm () 13cm (d Secm
The sum of all deviations of the data from its mean is

(@) Always positive (b) Alwaysnegative (c) Zero

(d) non-zerointeqer
In asingle throw of die , the probability of getting a multiple of 3 is
1 1 1 2
(@) — Dl C) —— -
) 5 (b) 3 (c) 5 (d) 3

SECTION Il - (Marks : 20)
Answer any 10 questions.Q.No.28 is compulsory.

10x2=20
Let A={1,2,3})and B={x| x is a prime number less than 10 }  Find AXB and BXA
Show that the function f- N —» N defned by f (m)=m?+m+3is one —one function
Find the HCF of 252525 and 363636
Find the number of termsinthe AP 369,12, 1M1
Find the LCM of polynomials a? + 4a- 12 and a? - Sa + 6 whose GCD 1s(a-2)
Ifthe difference between the roots of the x?- 13x + k = Ois 17 Find K
Define - Diagonal Matrix
Amangoe: 1Bmdueeaxtandmen24mduonom.thmodilhnceo¢hiswnent Position from the starting
point?
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23, Show that the points (-2,5), (6,-1) and (2,2) are callinear.
140059 _ cosec @ +cotd
24. Prove that\, G ]
e : io is observed to be 30
25.  From the top of a rock 50 V3 m high, the angle of depression of a car on the ground is ob
Find the distance of the car from the rock. . '
26. Ifthe ratio of radii of two spheres is 4: 7, find the ratioof their volum'eis. e ——
27. Adie is rolled and a coin is tossed simultaneously. Find the probability that the
and the coin shows a head .

28. How many terms of the series 1+4+16+............. Make the sum 1365 ?
SECTION -l - (Marks : 50) S
Answerany 10 questions. Q.No.42 is compulsory.

28, The function ‘t' which maps temperature in Celsius ( ¢ ) into temperature in F ahrenheit (F) is defined by t(c) =F.
Where F=-2_ C+32 Find (i). t( 0) (ii). t(28)  (iii). t(-10)  (iv). the value of C when t(C)=212
5 .

(v). thetemperature when the Celsius value is equal to the Fahrenheit value.
30 If fx)=2x+3  g(x)=1-2x and h(x)=3x .Prove thatfo(goh)=(fog)o h.
31. InaGPthe 9™ termis 32805 and 6™term is 1215. Find the 12t term.
32, Find the sum of 152 + 162 + 17% . +282
33.  Apassenger train takes 1 hr more than an express train to travel a distance of 240 km from Chennai to

virudhachalam. The speed of passengertrainis less than that of an express train by 20 km per hour. Find the
average speed of the both trains, :

1 7
4. IfA=(5 2 g9}, B=|1 2] verify that (AB)T= BTAT.
1 2 8 5 -1
35. Showthatin atriangle, the medians are concurrent,
38. Find thearea of the quadrilateral formed by the points (8,6), (
37.  Twoships are sailing in the sea on either sides of a light house.
as observed from the ships are 30° and 45°

5.11).(-5,12) and (4,3).-
The angle of elevation of the top the light house
respectively. If the light house is 200 m high , find the distance

39.  Asolid sphere of radius 6 cm is melt niform thickness. If the external ragiys

of the base of the cylinder is 5 cm and its haiks - : j
40. Find the co-efficient of variation of 24 26,33 37,29 , 31 .
41, Acoin is tossed thrice. Find the probability of getting exactly two heads or atleast one tail or ‘consecutive
two heads. ;

42, Find the Square root of 289y . 612x* + 970x2 - 684y + 361.

e SECTION - IV - (Marks : 1g)
e :

43.

Answer both questions,

3and use jt to solve x2

-6x+9=0(0R )
= -3x-5ang hence solve 2x?

~4x-6=0,
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